4
DA. / TT Multiplicera decimaler med 10,100,1000

namn: Datum: Poing:

1,347 x 10 = 1,333 x 1000 =
1,599 x 100 = 1,383 % 10 =
9,117 x 1000 = 2,953 x 1000 =
8,496 x 1000 = 9,149 x 1000 =
2,347 x 100 = 8,859 x 10 =
8,309 x 10 = 4,112 x 1000 =
3,102 x 10 = 8,898 x 10 =
7,746 x 100 = 9,634 x 10 =
8,597 x 100 = 6,367 x 1000 =
3,745 x 1000 = 8,544 x 100 =
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K5.5e /Tr 3

Multiplicera decimaler med 10,100,1000

namn:

1,347 x 10 = 13.47

1,599 x 100 = 159.9

9,117 x 1000 = 9117

8,496 x 1000 = 8496

2,347 x 100 = 234.7

8,309 x 10 = 83.09

3,102 x 10 =31.02

7,746 x 100 = 774.6

8,597 x 100 = 859.7

3,745 x 1000 = 3745

Datum: Poéng:

1,333 x 1000 = 1333

1,383 x 10 =13.83

2,953 x 1000 = 2953

9, 149 x 1000 = 9149

8, 859 x 10 = 88.59

4,112 x 1000 = 4112

8, 898 x 10 = 88.98

9,634 x 10 = 96.34

6,367 x 1000 = 6367

8,544 x 100 = 854.4
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